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KU : YR2SIR
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yaol : ddal Quir
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yauol : suald=

4l Qa1 Qa1 (23l YoAasi g2-id2 (e (Distance Education) 2434 sl [z aldelld
61wl €92

U : Al 254
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¥t : ¥4

RHUd g1 2ideHd Qe 2y BHiua 516l 53 sdl ?

wauor : Plyeus ods

[iais- sidamdig sy w56 dd wel as ?

yauer : [Qeudliu Yeuis gl

ARl [es WSy sldad qaw sy ¢ ?

el : [Anaazg-dl A4l nwsid

ALY sl Guarql [Asi’ 21 sul Gaed sSaudl ?

wauor : dalds Geou

Aseuriainl [QAsta Yuaed sl ¢oL gly &9 ?

yauol : olllgs [QAsi

swalRs auon saul aMaly (a9 yuaed sil wd Asidg ¢ ?
yauel : yliulel [z
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afler ylduel Qiaa 2io-u oo s undl ziavud] sdl ?
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‘o115 14 il G2 Y4l Hsd 214 sAFud Qe 2u 56 A4 ysa ¢ ?
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yauot : 4idlLs

e sur Geard uRysl s2a1 w2 wisuyas Guuldll ¢ ?

yael : A1l galda A4

&y [Qdln Bail 2uaRdl Y [asag 5§ wy & 7

YAl : 4049 Wy

[Qendllg dlod Heuist a1 HIS a1 Us1Rg H21uA sig ANEX ?
el : Gy ot [Ma uslawy
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$2aug’ 6.

yaol : dHE, $HO, dHT

1. g vilel ndll ¥ 51 (At 337 2. de el aua 537 3. w2 g 519 s2qug & 7 - 41 AGlY AsAHL
yrqquas [qeuw sui e ?

el : 54, dl, Y

AoesiNl A1l 54 e 5.

yauol : sl4, slis, s, 04

Adruniel] wifl Asoll s¢ &9 ?

QUL : YUS58

ACEUYS HIS 25 Avg youal : ‘Uls AN YA 44 Gralal Geia’
aue : HldHslcd

WRIHZ® ddls vauld Haq-uR sld sivr ¢d ?

wdlo] : YHIdE

AL 519U $HHI 9¢d $Yl AGE 2199 ?

wauel : [Bldy

@ Rl adl, a2yl adl’ - sal 2+ 2iudl 3leuaior sul ¢ |
el : 24 ydls caql

Ut CfldlHl g’ - 210 JEuAloil #d Y wu 9 ?

walol : H S¢S woul (242 1 slg

YRSl 21 4gl (A9 - s8dd-ll [Avg1dl s8ad qvil :

YU : QIS 49U Al 1 AS

G 53 v €9.7 - 21 USAHT VY 69,7 [FAIYE ] USIR Qvil.
yauo : 4545 [Fa1ue

QAN AUl taldul sedl ¢ ?

waed : Yy

A’ - <l [QA] uce sul &9 ?

yausy : aldls

il aoginid] sui qoeql 214 ‘Sl aal =4l ?

el : Wl
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54.

55.

56.

57.

8.

59.

60.

61.

62.

63.

QAld YUGL AUSIAHI AddsUAl A4S sloL 9 ?
el : gelist siulSa

RAHIT YL e sld i HoAl dmq ..

yaue : ella

odleise AlX ywdl wlBcuni sur Guund] wella &9 ?
walol : YHsg

“gonl aull yll 214l dewit” i1 s1cuuilsa st slAql R €9 ?
yauol : 244 Heusl]

Ad-unid] ¢ sld u~ucua wla’ ¢ ?

YU : HAY BHY

Mny dsial’ 3udluql 24 vdidl.

yauol : slAHI ag

2l [Asey 9] st aoe-ll Assll =l &9 ?

waiod : Ylyu

Adunid] ‘vaa’ aoeql yaruaidl 4 iy dal a0 sul &9 ?

wauel : [du—~

Yiqr’ aog-ll «lg elsdl -

yael : 4l + A

‘Cqral ol ysulor nag, visel Meusell 1 cwyd’ - 2 ulsa sui sl e ?
yals : GHIgisR Nl

Pella’ aoel e g wu ?

yael : 4R

sty Ad s sld dg aisu sy &9 ?

wauo : silalerR iRl &9

2dd AHrudl acgll 565 As Al &9 ?

Flo, : YR - 1IUR

dlalQas-l s¢ [Qora widl & ?

YU, : HAGR = H1Y + &2 Al (514 = [AY + 514 i1 wuo i~
Choose correct sentence.

¥dlot : What might have happened to the football ?

I have an umbrella. This umbrella is not ......

2416l : mine

Sure, I ...cccceevveunene complete my task.

aus : will
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

71.

78.

79.

80.

81.

Kapildev was the ...........cueueee. bowler in the India.
Yalod - fastest

I have ......ccceevurueee the reading competition.

¥alol : won

AJAY corveernnsnnsensnnnnns the matter among all the members.
aiet : disclosed

As the child was alone, I look after it.
dlét - had to

My brother speaks ........ccceuueee he were a leader.

o : as if

I am a fan of Amitabh Bachchan. His ...................... is good even at this age.

it : performance

This is my purse. Where is ........ccceeucee ?

ydlel : yours

The neem tree is .......cceeeeueee my house.

44 : in front of

Choose the past participle of : “Teach”

¥dlol : Taught

Find out the correct spelling :

Aot : Geography

They will inform you that they . just to Haridwar.

¥dlod - are, going

I have to go to Mumbai ..........ccceeueeee

Y4l - tomorrow

Change voice : By whom was that glass broken ?
¥dloi - Who broke that glass ?

...................... milk is there in the bottle.
dlét : How much
Our car was running ............eeee the road to Udaipur.

¥dlod : along

‘The farmers grow wheat in the winter season.’ - show the kind of noun of ‘wheat’ word :
diel - Material

See, the garden ..................... the flowers from garden.

yalod - is plucking

Find out ‘Adverb’ from the following sentence :
The good persons always act honestly with other people.

¥dloi : honestly
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86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

Monday comes .......cceeeeeenecnne Sunday and Tuesday.

¥dloi : between

Find out the correct opposite word of : ‘Handsome’

et : Ugly

‘The eagle can see very far. It has sharp eyes.’ - find out the meaning of the ‘sharp’ word.
it : powerful

Which of the following words is ‘Adjective’.

4ol : Kind

...................... I help you in your work ?
ydlol : May

Would you mind .........ccceeueeuee the window ?

dlet : closing
Chirag was absent yesterday because of his Father’s.....................
yaiet : illness

Kajal says she can’t .......ceceeeecueenee our invitation for lunch today.
¥dlol : accept
The cyclone caused damage to the village.

xdlol : extensive

3 .., q
3 J o8l Juidz .............. o,

walot : 37.50%

23 aq 44l se1R seal [Aladle: ?

yaiod : 1 [Aladle?

M [Qzgni A4 U4 ¢ ouora Al ay ady us 9?2

yauol : dsldsiy

3.5000 3'8% Avl2 au-L Alel Y 2 A59[By el dsiad sedl wd?
walod 3. 32

3q A ... vl €9,
YU : AAHY

Yin sl gag U & 7
yaiot : Al

$HYAS Aval Wiy la sy ?

yael : s qoell HIl A4 £ Aslul 8dl’d]

s Hl22 wRu1eR seal Sy ay ?

waus :39.37 6

25 Al uRAIA 100 Hl2R sl dl d Alug dasa sean 4. Hl awy ?
yaue : 625 Al Hl.
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xdlol : 53
2 N 32 g 2 A PR D
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alsy : 448
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59 i AT 241e91 2l GHAA al A7 2413 a3 [[:9y euoll s ?
ydled 2 4

S R5UU25 U255 25 W ?

et : 400

51 9 60 22 2dd] 2ldeury qvAivdl U ......oeveverenee.. .
wauet 1112

25 sl veuziiu Hiy 1:4:5 A QHIRHEE, dl Astor dld] wier veun 24 dldl - veu-u
HIYLL ASIAA cverererennen. .

xdile] 272
612414 ABCD 1l uR(AlA 36 ¢9. %1 AB : BC = 4:5 S14 Al BC = aoueeeeeeeeeeerrennne
xdilel 210

Lsigru 215 voug Hiu 85° &9. cusl of woui- Hiuil dsiad 35 6, dl ol 6 weu- Hiy
sed1ed ?

yU : 65, 30

Sasyde:ui ey vienl 44)
1) 29q U Guulad] 55q e9¢d g1ve 536l vl g2 Ay 6.
?2) eiewiril Gualod] asis aviadl g2 Ay .
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el 11050
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